
Aluminum Roller Lid-Shutter (SOT-ROLL Series by Tessera4x4)

OFF ROAD ACCESSORIES

OFF ROAD ACCESSORIES

ww
w.
ac
ce
ss
or
ies
-4
x4
.co

m

OFF ROAD ACCESSORIES

ww
w.a

cce
sso

ries
-4x

4.c
om

GR:  Οδηγίες Εγκατάστασης                        H:        Szerelési utasítás       
GB:  Installation manual                                P:         Instruções de instalação
SF:   Asennusohje                             R              RUS:   Инструкция по установке    
F:      Notice de montage                                 N:        Monteringsveiledning
PL:   Instrukcja montażu                                D:        Einbauanleitung
NL:  Installatie-instructies                            CZ:      Návod k instalaci
TR:  Montaj Talimatı                                         I:          Istruzioni de montaggio
S:     Monteringsanvisning                            DK:     Monteringsvejledning
E:     Instrucciones de montaje                    RO:     Instructiuni de instalare

Customer Service:                                 +30 (210) 5541161, +30 (210) 5541154 (08:00 - 16:00 EET)

Fax:                                                                                                                                         +30 (210) 5541443

Support  department:                                                                                                            info@gianso.gr

Website:                                                                                                                www.accessories-4x4.com

Address:                         19.5 km of National road Athens-Korinthos (Elefsina) Greece, P.C: 19200

PART NUMBER(S)

SOT-1311 ROLL

Model Year

Mitsubishi L200 2016+

Cab(s)

Double cab

Installation Time / Weight

60-75 minutes / 53-57 kg

Fiat Fullback 2016+





2 TUV Austria Certi�cates

4 Patents



01/11

A
OFF ROAD ACCESSORIES

ww
w.a

cce
sso

ries
-4x

4.co
m

M6x20

Ø6

Μ6
O

FF
 R

O
A

D
 A

C
C

ES
SO

R
IE

S

OFF ROAD ACCESSORIES

w
w
w.
ac
ce
ss
or
ie
s-
4x
4.
co
m

B

C D

E F

G H Ja Jb

x1 x2

x1 x2

x2

M4x16

x4

M4x15

x4 x2 x2 x2
K

(M10x50,Ø10,M10)
x4 x4

L
Sili

cone

x1 x1

M N



02/11

10 mm

Ø 15 mm

H2O

Ø 18 mm 10, 13, 17 mm

1 - 25 Nm

H2O

H2O

OFF ROAD ACCESSORIES

ww
w.a

cce
sso

ries
-4x

4.co
m

OFF ROAD ACCESSORIES

www.accessories-4x4.com

a)

b)



03/11

1

2

OFF ROAD ACCESSORIES

ww
w.a

cce
sso

ries
-4x

4.c
om

O
F

F
 R

O
A

D
 A

C
C

E
S

S
O

R
IE

S

OFF ROAD ACCESSORIES

ww
w.a

cce
sso

ries
-4x

4.c
om

O
F

F
 R

O
A

D
 A

C
C

E
S

S
O

R
IE

S

1 2

A

D

A

B

A
A

B
B



04/11

3

4

OFF ROAD ACCESSORIES

ww
w.a

cce
sso

ries
-4x

4.c
om

OFF ROAD ACCESSORIES

ww
w.a

cce
sso

rie
s-4
x4.
com

OFF ROAD ACCESSORIES

U
N
L
O
C
K

L
O
C
K

L
O
C
K

A)

B)

A

B

E

U
N
L
O
C
K

No.10



05/11

5

6

OFF ROAD ACCESSORIES

ww
w.a

cce
sso

rie
s-4
x4
.co
m

OFF ROAD ACCESSORIES

www.accessories-4x4.com

OFF ROAD ACCESSORIES

ww
w.a

cce
sso

rie
s-4

x4.
com

A)

B)

C)

C

F

G

H

F

G

H



06/11

7

Sili
cone

A) B) C)

8

Ia

Ia

x2

Ia



A) B) C)

8

Sili
cone

Ia

Ia

x2

Ia

18mm

B) C)

D) F)E)

A)

OFF ROAD ACCESSORIES

ww
w.a

cce
sso

ries
-4x

4.co
m

OFF ROAD ACCESSORIES

www.accessories-4x4.com

Ja

Ja Jb

07/11



08/11

A) B) C)

8

MITSUBI

Sili
cone

Ib

IbIb

Ib

x2

18mm

OTORS

A) B)

C) E)

F) H)

OTORS

15 mm

OTORS

D)

G)
OFF ROAD ACCESSORIES

ww
w.a

cce
sso

ries
-4x

4.c
om

OFF ROAD ACCESSORIES

www.accessories-4x4.com

Ja

Ja Jb



09/11

9

OFF ROAD ACCESSORIES
www.accessories-4x4.com

OFF ROAD ACCESSORIES

www
.acce

ssori
es-4x

4.com

A

D

B

A) B)

18mm

OTORS

A) B)

C) E)

F) H)

OTORS

15 mm

OTORS

D)

G)
OFF ROAD ACCESSORIES

ww
w.a

cce
sso

ries
-4x

4.co
mOFF ROAD ACCESSORIES

www.accessories-4x4.com

Ja Jb

Ja



10/11

10

11

L

L

LK

K

L
x4(M10x50,Ø10,M10)

OFF ROAD ACCESSORIES

www.accessories-4x4.com

OFF ROAD ACCESSORIES

www.accessories-4x4.com

OFF ROAD ACCESSORIES
www.accessories-4x4.com

OFF ROAD ACCESSORIES

www
.acce

ssori
es-4x

4.com

A

B

No.13

10 Nm

No.17



11/11

11

60 mm

60 m
m

40 mm

40 mm

60 mm

60 mm

K

L

L

L

K

L
x4(M10x50,Ø10,M10)

10 Nm

No.13 No.17



OFF ROAD ACCESSORIES

OFF ROAD ACCESSORIES

ww
w.
ac
ce
ss
or
ies
-4
x4
.co

m

OFF ROAD ACCESSORIES

ww
w.a

cce
sso

ries
-4x

4.c
om

Customer Service:                                 +30 (210) 5541161, +30 (210) 5541154 (08:00 - 16:00 EET)

Fax:                                                                                                                                         +30 (210) 5541443

Support  department:                                                                                                            info@gianso.gr

Website:                                                                                                                www.accessories-4x4.com

Address:                         19.5 km of National road Athens-Korinthos (Elefsina) Greece, P.C: 19200

Aluminum Roller Lid-Shutter (SOT-ROLL Series by Tessera4x4)



OFF ROAD ACCESSORIES

ww
w.
ac
ce
sso
rie
s-4
x4
.co
m

OFF ROAD ACCESSORIES

www.accessories-4x4.com

click

click

x2 x1

OFF ROAD ACCESSORIES

ww
w.
ac
ce
sso
rie
s-4
x4
.co
m

OFF ROAD ACCESSORIES

www.accessories-4x4.com

click

click

OFF ROAD ACCESSORIES

ww
w.
ac
ce
sso
rie
s-4
x4
.co
m

OFF ROAD ACCESSORIES

www.accessories-4x4.com

OFF ROAD ACCESSORIES

ww
w.
ac
ce
sso
rie
s-4
x4
.co
m

OFF ROAD ACCESSORIES

www.accessories-4x4.com

OFF ROAD ACCESSORIES

ww
w.
ac
ce
sso
rie
s-4
x4
.co
m

OFF ROAD ACCESSORIES

www.accessories-4x4.com

OFF ROAD ACCESSORIES

ww
w.
ac
ce
sso
rie
s-4
x4
.co
m

OFF ROAD ACCESSORIES

www.accessories-4x4.com



TOXIC
LIQUIDS

OFF ROAD ACCESSORIES

ww
w.
ac
ce
sso
rie
s-4
x4
.co
m

OFF ROAD ACCESSORIES

www.accessories-4x4.com

H2O

OFF ROAD ACCESSORIES

ww
w.
ac
ce
sso
rie
s-4
x4
.co
m

OFF ROAD ACCESSORIES

www.accessories-4x4.com

H2O

OFF ROAD ACCESSORIES
www.accessories-4x4.com

OFF ROAD ACCESSORIES

www
.acce

ssori
es-4x

4.com

OFF ROAD ACCESSORIES
www.accessories-4x4.com

OFF ROAD ACCESSORIES

www
.acce

ssori
es-4x

4.com

OFF ROAD ACCESSORIES
www.accessories-4x4.com

OFF ROAD ACCESSORIES

www
.acce

ssorie
s-4x4

.com

OFF ROAD ACCESSORIES
www.accessories-4x4.com

OFF ROAD ACCESSORIES

www
.acce

ssorie
s-4x4

.com



L
O
C
K

U
N
L
O
C
K

U
N
L
O
C
K

L
O
C
K

OFF ROAD ACCESSORIES

ww
w.a

cce
sso

rie
s-4

x4.
com

OFF ROAD ACCESSORIES

www.accessories-4x4.com

1

1

2

2

OFF ROAD ACCESSORIES

ww
w.a

cce
sso

rie
s-4

x4.
com

Winter Spring

Summer

Autumn

OFF ROAD ACCESSORIES
www.accessories-4x4.com

OFF ROAD ACCESSORIES

www
.acce

ssori
es-4x

4.com

WURTH 0890 222





Thank you for choosing us for your 4x4 accessories!


	L200 2016+ 1
	L200 2016+ 1α
	L200 2016+ 2
	L200 2016+ 3
	L200 2016+ 4
	L200 2016+ 5
	L200 2016+ 6
	L200 2016+ 7
	L200 2016+ 8
	L200 2016+ 9
	L200 2016+ 10
	L200 2016+ 11
	L200 2016+ 12
	L200 2016+ 13
	L200 2016+ 14
	P.U pg.1
	P.U pg.2
	P.U pg.3
	P.U pg.4

	L200 2016+ 15
	L200 2016+ 16

